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T2826 / T0868 SYSTEM PROGRAMMING AND COMPILER CONSTRUCTION TR
I Q.P.Code:11586
|
(3 Hours) Total Marks: .80

N.B.: (1) Question No. L is compulsory.
(2) Attempt any THREE questions out of remaining fiv
(3) In all 4 questions to be attempted. '
(4) Assume Suitable data if necessary, . SO
(5) Figures in brackets on the right hand side indicate full marks, .

e questions, -

. - c et
. T

QL. (a) Define System Programming? State difference between Application Programs

and System programs?

(b) Explain different types of text editors in brief. I S (05) '
(¢) Explain the java compiler environment. N ()]

(d) State difference between LL parser and LR parser. - . q05)"
= Q2. (a) Explain the design of two pass assembler wit’h:‘-ﬂo\i/chart and @atabaséé?? ot Bt

(Clearly show entries in databases) = = - Siiiss AR s !('197):\‘

(b)What do you mean by operator precedence grammar? With the 'help:qf AN
following given grammar, parse.the input string “ a+b*c*d”, .. - R (10)

E — E+T|T CAx L Ret@g e i S0 S
V= abldd e A A e s e oy

Q3. (a) Explain the workingdf"t\.;vb p'é‘s's\. ma

cro processor with neat flowcharts and databases.
(Clearly show entries in databases.)

(10)
(b) Explain different types of code 0;5tim_izat;ic.y'n'_tEchrl_iques in compiler design. (1 0)

. Sas '
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Q4. (a) ,CbnstruCt__LL( 1). pai-‘_sir:l‘g"t_ab‘le_;f_'of .;li‘gl‘fgl_lqwiri g gra'mmar:- (10)

£ 7 Chegk whéther the string * achghi® s valid or ot
SN

P \._‘r-",f“;\'('b) fl'.)_i's‘cuss different issues in design of code generator. (10)
Q;\ijl‘f;(a")“f}zxp]_ain different types of Intermediate Code representation with examples? (10)
: ‘:_;‘.\"ésr,g-_(g)“_ggplain working of direct linking loader with example, showing entries in
S0 & different databases built by DLL, (10)
a:)'Eprqin the different phases of compi'er with suitable example? (10)
) Write short note on: (Any Two) *

: 10
o - (i) Syntax Directed Definition (19
2.2 o (i) LEX & YACC
.- (iii) garbage collection and compaction
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(q.l Answer all questions i g g et g

a) What are the potential problems of perotyplhg model" R

b) th:;g are the different steps recommended to detérmine the overall consequenées of
ris I

¢) Explain cohesion and couplmg What are the beneﬁts ofhlgh cohesmn and low
coupling? ey e

d) With examples, dlfferentlate between vahﬂa"tw%and vemf‘ catmxi'“ o Pl

->\ \. et LR S 1 .

Q.2

Q.3

Q.4

C’ Q

Q @,; ‘,L “\teysﬁort ﬁotes oh [any tw0]
a) SCRUM

53 v ehange contral..>

y
TE /sem\j_r/cpuf/ SE [ m{um/cwas

s

Q.P. Code :22530

[Time: Three Hours] B : C {Mafi«:s:#()]

Please check whether you have got the nght questlon paper

N.B: 1. Question No.1is compulsory. . -
2. Attemptany three questions out ufremammg f've._

~‘ ..‘, T ‘_\/"“ _:_-‘-- R T
2 . %

\.jd_\ .

a) Tell the methods ta: gathErwtfleteqﬂlremem:s for ah online ticket seﬂmg system for an

event. Mention any\four dlfferent requlrements ehc:tatlon methods
b) With a neat dlagi‘am ‘Explam the splral model ofsoftware ﬂevelopment

a) Describe and dlscuss the charactehstlcs of the aglle requlrement.s process.

b) Prepare a'risk 1de'1t1ﬁcatlon checkhst and RMMM plan for creating an UID with
blometncs (Umque ldent{ﬁcatlon number) fora hlghly populated country.

a) Explam the dlffereut'memcs u\sed for software quahty and reliability.

b) ﬁ‘Explam basns path festmg an(Tfyc]omahc comp[exlty with suitable examples.

n i ..,F

qﬂ "What is SuftWar
;,‘-ij \Explam the ﬂ;\ffe

L A T
v, L-¢
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Q.P. Code: 24230

(3 Hours) ) .
“Taotal marks : 80
Note: ]
* Question No. 1 is compulsory.

* Attempt any Three questions out of remaining questions.
* Make suitable assumptions whenever necessary. .

QI: : _ : [5X4].
a) What are the different deadlock avoidance techniques ? ST
b) What are the app-oaches for global query. optimization 7
™ ¢) Compare federated databases with non-federated databases.. - ... " .
) d) What are the Concurrency Control Anomialies? - AP IR N e
a) Explain Design issues of Distributed DBMS. [10]

b) Discuss Allocation of fragments in detail. - =~ - - -~ - T (10
Q3: -~ Sy LS o = b "y

a) Explain ACID p\roﬁ?éﬁé%':o:_f,_ﬁﬁné'aégi‘ohft‘rﬁrihigépi'gu'té'.
b) Discuss different types of Locking Mechanisms. .~ -~

VAN T e
SR

Q4:

Consider the'global schema: ~ . .« * - s 28R
PATIENT(Number;namé; UID, Amount .due, Dept, Doctor; Med: treatment)
DEPARTMENT (Dépt; Location, Director) -

STAFF (Staffnum; Director, Task). Ve
1) Show 2 example of horizontal fragmentation.
2) Showléxép‘ip[é‘pf Vertical fragmentation, -

_3) Show2 éxamﬁl_&of ‘Derived fragmentation

Q& "ol b B Se i, T W
tora) ‘EXplain-diffqréniTypcs_nf Failures in a Distributed Database System. [10]

P i+ . 7_b) Design XML [DTD file arid XML document file for the following relational

Sschemaz e
..o »-customer(éname,cresidence;ctel)
| ... iteniitefmicname, tem-code) -
 -order:réquest(customer, set of product)

Lo F e ST o otel i;giiib;'a‘;rc‘s’ildqi'z(:ig';‘{'ii_:mbcr or a mobile number.
‘}{v\\.x_'_ \\‘ it ,Qﬁ:'-.\-w i = :.»; \\ ;;:"',‘"’.";. ] | ;;: \
TS0 o Wite dotes on the following, (any two) [10X2]
“.+ i« .a) Referénce Architécture of Distributed DBMS,
St N . b) Objéctives of query processing.

= 2 ¢) 3PC recovery protocols,
d) Querying and transformation of XML data.
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1) Question
2) Anempt any three questions out of the remammg questions.
3) Make suitable assumptions wherever necessary.

1. a)
b)

c)

d)

!J

a)
b)

|7
%)
i

—\\-' :
o b3
P A\

oo R

a)

c) .
d).

\-‘

\ i and‘semces offered by\TETRA
X B = S \' o= \

Q. P. Code:-2.

(3 hours) [Total Marks: 80] -
No.l is compulsory.

Compare WCDMA and CDMA 2000 ) e

What is the relationship® be}\\eeu the Base Stanon and Mobx\!c
Switching Centre? Discuss the role of EIR entity of GSM network. -~
Why do Hidden and Exposed termmali;roblems anse"How would }ou
propose to solve it? .

Define footprint w.r.t satclhte systems Draw and exp]am how

commumcanon W xthm Lhe foogpnnt happens" FL »
) :\ :\ \-'\L _'7 \ \-. -:\.'"- \.A_\\ \ . 5
Explain pov. er maﬁazemenf m\IEEE 802 1 I‘mﬂ-astructure networks and
- \ \ Y - \ .
ad- hocnetwod;g SEUNEIE S, ) S

Loolung at ‘the HI..R./\’LR da\tabasq used 1n\GSM how does this
amhltectune hmlt the" scalablhtv in terms of users;, especially moving
_users? Exp]am the conitrol: channels of GSM '

<

5 ’Hou the\avent can be dlscovered usmg Moblle IP? Give the overlay of

‘agent ad\emsement packet “hlch mcludes mobility e\(tension.Also,

‘ -.'idlscuss -how < tunnehng “orks for \Mobxle IP  using IP-in-IP

\ ~
Y

N encapsulauon
\D@mmiegplmQﬁe archltecture Qf TE'IRA and specify the standards

'-'\\\\-.,- _\\
Explam the vanous sé@unjy issues involved in mobile computing,
Compam and coqtrast HIPERI.ANZ and IEEE 802.11.

-\ \" \ Q\ -q-\ \-‘

De3cnbe Bluctoqth archltecturc and protocol stack.-Also, discuss its
*limitations.” -~ > >

Explam the data rate enhancement with the help of GPRS network

dcl What is the maximum data rate obtained by GPRS network?

- _‘\
\\\ \

Write short notes on the following :
Dalvik Virtual Machine (DVM).
M-TCP.
Wireless Local Loop (WLL).

© QoS in 3G.

Ekkkkkky
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